1/7

W3,5x16
=0

K30




OoDB

s |W3,5x16

/7

2







4/7

Q

—®

=

(=



solid
Linia

solid
Linia

solid
Linia

solid
Linia

solid
Owal

solid
Owal


5/7




7] &
H120| *




7/7




	Arkusz1
	Widok rysunku1
	Widok rysunku2
	Widok rysunku3
	Widok rysunku4

	Arkusz2
	Widok rysunku5
	Widok rysunku6
	Widok rysunku7
	Widok rysunku8
	Widok szczegółów  (1 : 3)

	Arkusz3
	Widok rysunku9
	Widok rysunku10
	Widok rysunku11
	Widok rysunku12
	Widok rysunku13
	Widok szczegółów  (1 : 3)
	Widok szczegółów  (1 : 2)

	Arkusz4
	Widok rysunku14

	Arkusz5
	Widok rysunku15
	Widok rysunku16

	Arkusz6
	Widok rysunku17
	Widok rysunku18
	Widok szczegółów  (1 : 5)

	Arkusz7
	Widok rysunku19


